RILRZ 101 2 FEA LI 4 A4

}é)\{'« ner,fﬂ» i . o
%EJ * éﬁ%&_iﬁi,ﬁi . %ll‘a . é{‘:@: %.%b. g.(:\(.’(. 7&-
{

B A
ARAM2A20B8(EHA) F4E (AXBETRPMEL) ARk@E$ = AHE 2

1.(30%) Suppose that the economy’s production function is
Y =JKJAN
where Y is output, K is capital, 4 indicates the state of technology and N is labor. The saving
rate (s) is equal to 12% and that the rate of depreciation (&) is equal to 8%. Further, suppose that the
number of workers grows at 1% per year and that the rate of technological progress is 2% per year.
a.Find the steady-state values of:
(1) The capital stock per effective worker.
(2) Output per effective worker.
(3) The growth rate of output per effective worker.
(4) The growth rate of output per worker.
(5) The growth rate of output.

b.Now suppose that the rate of technology progress is still equal to 2% per year, but the number of

workers now grows at 3% per year. Recompute the answer to part (a). Are people better off as

figured in part (a) or in part (¢)? Explain.

2.(20%) Suppose that a person’s wealth is $75,000 and that her yearly income is $100,000. The only
choice she can make is to decide how to allocate the wealth between money and bonds. Also suppose
that her money demand function is given by

=Y(0.25-1)
a.Derive the demand for bonds. Suppose the interest rate, #, increases by five percentage points. What
is the effect on the demand for bonds?
b.What are the effects of an increase in wealth on money and on bond demand? Explain in words.
c. What are the effects of an increase in income on money and on bond demand? Explain in words.
d.“When people earn more money, the obviously will hold more bonds.” What is wrong with this
statement?
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